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GAYAZA HIGH SCHOOL 

S.3 MATHS WORKSHEET 

REVISION TOPIC: DIFFERENCE OF TWO SQUARES 

 Difference of two squares: 
This is one of the three important identities we commonly use in the study of Algebra. 
When the sum of two numbers multiplies their difference, then the product is the difference of 
their squares. 

                                                            (𝑎 + 𝑏)(𝑎 − 𝑏) = 𝒂𝟐 − 𝒃𝟐     
Note the order of the factors does not matter 

(𝑎 − 𝑏)(𝑎 + 𝑏) = 𝒂𝟐 − 𝒃𝟐 
When we re-write the above as  

                                                               𝒂𝟐 − 𝒃𝟐 =(𝑎 + 𝑏)(𝑎 − 𝑏) = (𝑎 − 𝑏)(𝑎 + 𝑏)  
(𝑎 − 𝑏), (𝑎 + 𝑏)  are factors and the process is called factorising the difference of two squares  
Example 1 
Simplify(i) (𝑥 − 3)(𝑥 + 3)      
(𝑥 − 3)(𝑥 − 3) = 𝑥2 − 32 ( recognize immediately that the product will be𝒂𝟐 − 𝒃𝟐      )  

                           = 𝑥2 − 9 
                 (ii) (2𝑛 + 5)(2𝑛 − 5) 

      (2𝑛 + 5)(2𝑛 − 5) = (2𝑛)2 − 52 ( recognize immediately that the product will be𝒂𝟐 − 𝒃𝟐  )      

                                        = 4𝑛2 − 25 
TRY OUT ! Simplify 

1 . (𝑥 − 9)(𝑥 + 9)      2. (𝑦 − 𝑧)(𝑦 + 𝑧)      3. (5𝑥 + 4)(5𝑥 − 4)      

4. (7𝑦 + 1)(7𝑦 − 1)      5. (𝑝𝑞 − 10)(𝑝𝑞 + 10)      6. (𝑎 − 1

𝑎
)(𝑎 + 1

𝑎
)      

7. (3𝑎𝑏 + 2)(3𝑎𝑏 − 2) 8. (1 + 4𝑝)(1 − 4𝑝) 9. (𝑚3 + 𝑛2)(𝑚3 − 𝑛2) 

Example 2  
Factorise completely 

(i) 𝑦2 − 100 
𝑦2 − 100 = 𝑦2 − 102 

                    =(𝑦 − 10)(𝑦 + 10) 

(ii) 𝟏𝟔𝒙𝟐 − 𝟒𝟗 
𝟏𝟔𝒙𝟐 − 𝟒𝟗 = (4𝑥)2 − 72 

  
                                =(4𝑥 − 7)(4𝑥 + 7) 

(iii) 𝒛𝟐 − 𝟏 
𝒛𝟐 − 𝟏 = (𝑧)2 − 12 

                             =(𝑧 − 1)(𝑧 + 1) 
 

(iv) 𝒑𝟒 − 𝟏 

𝒑𝟒 − 𝟏 = (𝑝2)2 − 12 
                    =(𝑝2 − 1) (𝑝2 + 1) 

= (𝑝 − 1)(𝑝 + 1) (𝑝2 + 1) 

 

(v) 𝟖𝒏𝟐 − 𝟏𝟖 
𝟖𝒏𝟐 − 𝟏𝟖 = 𝟐(𝟒𝒏𝟐 − 𝟗)( first factorise 
the common factor 2) 
                    = 2((2𝑛)2 − 32) then 
recognise the difference of two squares 
                     =𝟐(2𝑛 − 3)(2𝑛 + 3) 

 

(vi) 𝟏𝟔 − (𝒙 − 𝟑)𝟐 
𝟏𝟔 − (𝒙 − 𝟑)𝟐 =  (4)2 − (𝒙 − 𝟑)𝟐 

= (4 − (𝑥 − 3))(4 + (𝑥 − 3))) 

= (4 − 𝑥 + 3)(4 + 𝑥 − 3)) 

= (7 − 𝑥)(1 + 𝑥) 

EXERCISE 
Factorise completely 

1.(i)  𝑞2 − 81  
(ii) 𝑣2 − 1
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(iii) 64 − 𝑥2 
(iv)   𝑥2 − 900 

2. (i) 𝟏𝟔𝑚2 − 121 
(ii) 𝟏𝟒𝟒𝑎2 − 169𝑏2 
(iii) 25𝑥2 − 9𝑦2 
(iv)   𝟒𝑟2 − 81 

3 (i) 2𝑥2 − 72 
(ii) 3𝑥2 − 3 
(iii) 10𝑥2 − 90𝑦2 
(iv) 200𝑥2 − 1250 

4) (𝒊)𝒃𝟒 − 𝟐𝟓 

(ii) 𝒙𝟒 − 𝟖𝟏 

(iii) 𝟒𝒅𝟒 − 𝟗 

(iv) 𝒂𝟒 − 𝒃𝟒 
 
 

5. (i) 𝟔𝟒𝒛 − 𝑧3 
(ii) 𝟑𝑝2 − 12𝑞2 
(iii) 𝒙 − 𝑥3 
(iv) 𝟕𝟓 − 3𝑏2 

6. (i) 𝟗 − (𝒂 + 𝟑)𝟐 
(ii) 𝟏𝟔𝒙𝟐 − (𝒙 + 𝟐)𝟐 

(iii)(𝒙 + 𝒚)𝟐 − 𝟗𝒂𝟐 

(iv)(𝒂 + 𝒃)𝟐 − (𝒂 − 𝒃)𝟐 
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